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Please read this information before the examination starts.

e This examination is 60 minutes long. -
O « All questions should be attempted.
e Arow of dots .......... denotes a space for your answer.

« Where answers are not exact they shou[d be glven to three sagmflcant flgures
unless specified otherwise. _

The = button on your calculator should be used for calculatlons mvolvmg .




ion with each number correct fo

N B T g alculat .
(i) By writing the following C ¢ the calculation

1 significant figure, estimate the value @

9.89 +5.39
ikl it
278

: o

ANSWEL: ecimirnnsasas
(i)) (a) Writing down all the figures shown on your calculator, find the value of o

9.89 +5.39
2.78

ANSWEL: e | (l1)

(c) Write your answer to part (i) (a) correct to 3 significant ﬁgﬁres

Armmiaise.




2. (a) Tim has a full 2-litre bottle of milk. He pours out % of the milk.
How many millilitres of milk are left in the bottle?

ANBWEL somssssrmssmssussvonss SO, JO" mi  (2)

{b) A mailbag contains three parcels with a total mass of 2.95 kilograms.

Two of the parcels have masses of 250 grams and 1.73 kilograms
respectively. .

Calculate the mass of the third parcel, in kilograms.

(c) A ball of string contains 7% metres of string.

Jennie uses 36 pieces of strmg, each measunng 15 centlmetres when she
ties up her raspberry canes. '

What length of string is left in the ball, in metres'?

ANSWET: covrvecrenes IR eertavens m (2)
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3. The children in a class are equaily hkely to ente
classroom in any order.

There are 10 girls and 6 boys in the class.

' irst?
{1 VWhat is the pmbab_i!ity that a boy enters the room firs

AOSWEY: iirarscnsasiinn e w1 C

() What is the probability that the youngest child enters the room _first?

. LR :
--------------------------------------------

{iii) 5 girls and 5 boys enter the room. o
What is the probability that the next child to enter the room is not a girl?
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4. In an auction Mr Chambers successtully bid £35 for a chair.

price as COmmlSSIon

The auction house charged Mr Chambers an extra 12% of the bid ¢

(i) (a) How much commission did the auction house charge?

T ST RY ¢ |

(b) How much did Mr Chambers pay in total for the chair?

ANSWET: £ ererreevrssesssesssesssesssssssssssassnonssas (1)

The auction house charges the seller, Mr Potts, 17% of the bid price before

paying him.

(i) How much doés Mr Potts receive?

Answer: sa...' .......................................... )

(iiiy How much money does the auction house receive, in total, from the sale

of the chair?
ANSWET:  ovvrreerrmerecssvesrrnnassiassnssassssissans (1)

(iv) What percentage of the bid price does the auction house receive in total?

ANSWEL: «evvereuesirmersesenmessmssstasnassssrenssas % . (2)
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'(i), What is the sum of E'ij'5 and 2m°7?

ANSWET: searsssrasasasesnassssss

ANSWETD: cnverrecencreansnesesinnns

ANSWETL: ovveiciiieeceeninen,

5. (a) |
(ii) How much greater is 5n7° than 2m’?
(iii) What is the product of 5n° and 2n°?
(iv) What is the value of 5n° divided by 2n?
(b) Multiply out the brackets and simplify
x(x —2y) = y(6y = x)
(c) Factorise completely
12p® + 9pq
Answer:
S.A. 2837228 6
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6. (a) Harriet chooses a number which she calls h.
Write down an expression, in terms of h, for

(i) six less than three times her number.

ANSWEN: 1everenessserrestoressresonivess (2)

Harriet finds that twice her number added to half her number is equal to
six less than three times her number.

(ii) Form an equation and solve it to find the number Harriet chose.

ANSWEr: A = .comssmmsmssmsesosseonss (3)

(b) It is known that the equation 5x? 4+ 6x — 27 = 0 has a positive solution
which is less than 3. Use a trial and improvement method, and the table
below, to find the solution.

X 5x° 6x  5x®+6x— 27

ANswer: X = ... Ao (3)

S.A, 2837228 7 Turn over




Calculate o
(a) the size of an exterior angle, e
. 5 [+
ANBWEL B suissssissssmmpsensgimmneensinh v (1) -
(b) the size of an interior angle
. . L]
ANSWET 1iveecrieceeinsnnisrirnsissusssnns orsEE Y (1)
(c) the size of the angle x
. ]
ANSWEN X = ..oviivvearisnecisnsniimeisssannns (1)
(d) the size of the angle y.
Q
ABSWEL V = issssimnissanssibivmmmiissbhiion (2)

(i) Sammy has a special pinball machine in the shape of the regular poiygon.

(a) The ball goes from A to D, then to G missing out two corners each
"~ time and finally arriving back at A.

~ What is the special name of the polygon formed by the ball's path?

ANSWEL Lereiiirieiiiiirienir e eeesisesennesaseeas (1)

S.A. 2837228 '8



~{b) linstead the ball misses out four cormers each lumo what is the size

of tha Interior anglo of tho polygen formod?

8. (a)

End is shown below.

Answor;

station arrive | depart
North Park | 0942
MiddloTown | 1115 | 1131
South End 13 02

Part of a railway timotablo for travolhng between North Park and South

() How long does it take from Ieavmg North Park to arriving in South

End?

ANSWEL viveriesirennianss N

(i) What percentage of this timo is spent tra\}elling?

Answer. srpms o s ————— % (3)

(b) Acar travelling from South End to North Park takes 5 hours 15 mmutes to
cover the 252 mile journey. _

What is the average speed of the car?

S.A. 2837228

ANSWET: reveeeeerereserissssens v Mph (3)

Turn over



9. On a recent visit to the USA, | found that there were two rates of exchange
between pounds (£) and US dollars (§). .-
Rate 1: £1 = $1.75 " Rate 2$1 = £0.64
(i) Use Rate 1 to write down the value of £100 i Us dollars.
| = - C ANSWER $ e
(ii) 'Us_e‘ Rate 2 to calculate the value of $150 in pounds. '
" . -Answer £ B -

SRS ¢ |

(iii) Use your answers to parts (i) and (i) to draw two conversion lines on the

grid below. Label the lines Rate 1 and Rate 2. ‘
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pounds (£) (3)
(iv) Use your graphs to find how many more dollars | recei '
Rate 2 when | exchange £70 , SiVE ising Rate 1 than
Show clearly where you take your readings.
Answer: § ........ S T | (2)

S.A. 2837228 ' 10




10. Percy of the Pi . ‘ ;
their{)izza g Pizza Palace counted the number of toppings cus_tomers p_hose for

- He drew the pie chart below to show this infofrhation.

B toppings

3 toppings

4 toppings
1 topping

{f Percy surveyed 72 pizzas,
(i) how many had
| (a) two toppings

ANISWEL. .rieemseceesessnsssssisassssasssarmnssassassess (2)

(b)r fewer than four toppings?

T ANSWEN crveeevreressensarnenane v e aereeerans . (1)

(i) what was the total number of toppings on all the pizzas in the survey?

ANSWED: ciieeeremereanecsssesssntsmaneasmstsmsncness . (2)

S A 283722.8 11 : Turn over




;)
: ded by fencing, as SROWn e T
! 11. The circular arena surroun ' o
f 40 metres. 7 . e
| not to size
g
é i
L 4
R :
o : 40m
! ‘
i

(i) For the circular arena, calculate

(a) the circumference

ANSWEL weeveerrenssssusssmessnss T m (1)
_ (b) the area.
..7 ANSWET: ..eoveee oo seresasaens et (1)
There are 100 panels of fencing and each panel is 0.7 metres high.
R All the fencing panels are to be painted on both sides.
: (ii) What is the total area to be painted?
;-
\
~ ‘ .
3 ANSWET: 1viiiinineescessarsssenenrennen I (2)
. S.A. 2837228 ' _ 12
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The fencin i
g round the circular arena is now reshaped into a square

- (iiiy Use your answers to part '(i) to calculate

a) t ;
(a) the length of each side, s ' not to size
- § ————
ANSWET: S = sscsssmgnasarensansssnsanmamsasaises m {2)
(b) the area of the square giving your answer to the nearest 10 sqiuare metres
m®  (2)

ANSWETD cereerssssssssmsssassnassssastassessaseess

rcle exceeds the area of the square.

(c) by how much the area of the ci

ANSWER: werrmssmersemssssssssssisssssssnisanss ~m? (1)
“Turn over
S.A. 2837228 13 Turn ove




12. Sasha and Tnna went orienteering.

‘ 2
Sasha (S) can see Trina {T) 60 metres away on a bearing Of o-.S .

(i) Use a scale of 1:1000 to plot the position of Trina.

4.8

They spot a marker on a bearing of 035° from Sasha and 065° from Trina.
(i) Plot the position of the marker (M).

(iii) Find the distance of Trina from the marker, in metres.

ANSWET i iers e, erverene m :

S.A. 2837228 - ' 14



13. () fy=2x — x? complete the table of values below.

x|2|=1]of1]2|3]4

(i) On the grid, draw the curve of y = 2x — x2
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(i) 1f y=2x— 2 complete the table of values be!ow. ) B o

_x'O

he grid draw the line y = 2x — 2

(iv) Ont 2
d the two values of X where 2x — x“ =2x—2

{v) From your graph, fin
ANSWET: X = eureesarnasses AN eeeeeeireeeans |

15 Turn over
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14, Jamie delwers meals to the elderly in and around his village.

(i) On Tuesday he dehvered m mam courses and p puddings, a tohl of
13 utems

() Write down an equation, in terms of mand p, 10 show this information.

ANSWET: .o v e y (j) :

 On Thursday he delivered twice as many main courses and half as many
: pudd:ngs a total of 17 items.

(b) Write down an equation, in terms of m and p, to show this lnformatlon

Answ_ér: SRR RO PRIS N—— (1)

(ii) Solve the equations in part (i) simultaneously to find the values of mand p.

ANSWET: MM T coieeeersaersereesonensissnsssnssnsoss

Main courses cost £1.75 each and puddings cost 45 pence each.

(iiiy How much money did Jamie coliect in total for all the items that he dehvered
on Tuesday and Thursday?

~ Answer: £
| (Total marks: 100)
| S.A.2837228 | 16



